12”0602 (K12n0602)

Linearized knot diagam

ENNEERFERRREE

3 7 9 8 10 2 12 4 6 5 7 8

Solving Sequence

39-4752—>1—>6—>10>8—>5—> 12> 11 > ¢5,C7,Ci0
C3 C2 C1 Ce Co C8 C4 Ci12 C11

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

It = (—u® — 3u® — Tu” — 10u® — 9u® + 2u* + 5u® + 11u® + 8b — 6u — 2,
u® 4 50’ —ud + 6ut — 2u® +u? +da+2u — 2, '+ 6u® — 3u” + 110’ — 1365 + Jut — 120 + Tu? +2)
I¥ = (—937u' — 24720 + - - - 4+ 1987b — 6836, 12531u'3 + 27338u'% + - - - + 19870a + 85927,
u' + 3u' + -+ 22u + 5)
I = (—u'a —vPa—v® —au+b+a—u—1,
—2u5a—2u4a+u5—6u3a—|—u4—6u2a+2u3+2a2—6au+3u2—6a+u+3,
u® + 3ut + v + 2u? 4+ 2u — 1)
I = 2ula+ 100 + -+ 7a+ 1, —2u” +3u® +--- +a® — 4, u'® — v’ + 4% — 4u” + 6u® — 6u° + 3u* — 3u® + 1
I'=({b-1, 6a—u—3, u> +3)
I =0b—-u, 2a+u+1, u?+1)

I'={a, b—1,v+1)

* 7 irreducible components of dim¢ = 0, with total 61 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

LI=(—u’—3u®+.--+8b—2, ud+5u® — u® + 6u* — 2u® + u?+4a +
2u — 2, ul® + 6ud + .-+ + Tu? 4 2)

(i) Arc colorings

o ()

0
ag = u
1
a4: _u2
1,8 5,6 1 1
AW AWt T Ut g
ar = §U9+§U8+" +ZU+Z
R VRO
a2 = \—gu’+5u+ -~ qut g
_§u9+lu8+..._§u+%
a1= _gug_i_gus_i'_.._zu_’_z
1
ag = (§u9+§u8+ ~-+u+1)
u
a10:<éu9_éu8+ --+2u—1>
—u
ag = \uyd+u
u? +1
as = \ —yt — 242
1,8, 5,6 3 1
S
a19 = _§u9+§u8+..._zu+,
—u® —2u
an = —%u9+%u8+ —2u+1
(ii) Obstruction class = —1

(iii) Cusp Shapes = 3u? — 108 + 1107 — 8u® + 20® — 25u* + 1Tu® — 2Tu? + 13u + 1



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1 wl® +u® + 208 — 3u” + 1208 + 240’ + 460t + 37ud + Tu? — 3u + 4
€2 C6, €7 w® =3 +4ud —u -4+ 60 -3+t u+2
C11,C12
€3,C4, G5 u'® + 6u® + 3u” + 11u8 + 1305 + 9u* + 120 + Tu2 + 2
Cg, C9, C10




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Y0+ 3y7 4+ 44Ty + 16
20T g0 0y oy 4 3yT 4 12y° — 245 + 46y — 3Ty% + Ty + 3y + 4
C11,C12
C3,C4,Cs y10+12y9++28y+4
€8, €9, C10




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.849669 + 0.2789251
0.126908 — 1.4021901
—0.935978 4 0.7073741

2.59736 + 5.485281

0.63906 — 6.672041

0.849669 — 0.2789251
0.126908 + 1.4021901
—0.935978 — 0.7073741

2.59736 — 5.485281

0.63906 + 6.672041

—0.179655 4 1.1911601
0.250838 — 0.6361401
—0.46356 + 1.360461

—2.21767 — 1.597351

—7.51312 + 4.645801

—0.179655 — 1.1911601
0.250838 + 0.6361401
—0.46356 — 1.360461

—2.21767 + 1.597351

—7.51312 — 4.645801

—0.44148 + 1.446101
—0.552527 + 1.2758501
—1.28583 — 0.660011

—8.2686 — 15.16461

—7.51854 4 8.256721

—0.44148 — 1.446101
= —0.552527 — 1.2758501
—1.28583 + 0.660011

—8.2686 + 15.16461

—7.51854 — 8.256721

—0.171957 4 0.4546481
0.655512 — 0.2863141
0.281118 + 0.5595661

0.087563 — 1.0888101

1.48967 + 6.229921

—0.171957 — 0.4546481
0.655512 + 0.2863141
0.281118 — 0.559566.1

0.087563 + 1.0888101

1.48967 — 6.229921

—0.05658 + 1.785311
0.519269 + 0.0552331
0.904241 — 0.2025481

—16.0502 + 0.88221

—5.09706 — 8.514581

—0.05658 — 1.785311
= 0.519269 — 0.0552331
= 0.904241 + 0.2025481

> Q@ 2|l @ €| @& 8|l @ €| @ €| & €| & 8| & 8| & 8| & &

—16.0502 — 0.88221

—5.09706 + 8.514581




II. ¥ = (—937u'® — 2472u'? 4 ... + 1987b — 6836, 12531u'® + 27338u'? +
-+ 19870a + 85927, u'* + 3u'd + ... + 22u + 5)

(i) Arc colorings

w=0)

o= (o)
= ()
—0.630649u'3 — 1.37584u'2 + - .- — 15.3917u — 4.32446
ar =\ 0.471565u'3 4+ 1.24409u'2 + - - - + 9.17765u + 3.44036
0.253296u'3 + 0.379668u'2 + - - - + 0.855511u + 0.00558631
as = —0.425264u13 — 0.827378u12 + - —8.90941u — 2.81228
—0.171968u'% — 0.447710u'2 + - - - — 8.05390u — 2.80669
a1 = \ —0.425264u'3 — 0.827378u'? + - - - — 8.90941u — 2.81228
—0.693105u'® — 1.63795u'2 + - - - — 20.3068u — 6.28908
ag = \ 0.351787u!3 4+ 1.16608u'2 + - - - + 6.24459u + 3.20684
—0.241369u' — 0.372320u'2 + - - - — 0.359235u + 0.934474
0.330649u'® + 0.975843u'? + - - - + 16.4917u + 5.22446
<u T
u +1
—ut — 22
—0.342577u!® — 0.983191u!2 + - - - — 14.9880u — 5.16452
a12 = \ —0.112733u!® — 0.0145949u2 + - - - — 3.34877u — 0.572723

—0.0892803u'? — 0.603523u!'2 + - -+ — 14.1325u — 6.15893
a1 =\ —0.537997u'3 — 0.841973u'? + - .- — 12.2582u — 3.38500

(ii) Obstruction class = —1

_ 205813 | 6600, 12 37538 12194
(iii) Cusp Shapes = {gezu'” + fgzu'” + - + Joe u + Jogz




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u” + 3uS + Tu® 4 8ut + 9u? + 6u® + Su + 1)?
C2,Cq,C7 (u7—|—u6—u5—2u4+u3+2u2+u—1)2
C11,C12
C3,C4,Cs u14—3u13—|—--~—22u+5
€8, C9, C10




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 (y" + 5y° + 19y° + 36y* + 49y° + 38y* + 13y — 1)?
€2, Ce6, C7 7 6 5 4 3 2 2
(y" —3y° +7y> — 8y" +9y° — 6y“ + 5y — 1)
C11,C12
€3,€C4,Cs gt 11y 4 — 4y 425
€8, C9, C10




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

0.370785 + 0.9467041
= —0.209881 — 0.3035671
= 0.597306 + 0.7738451

0.562491 — 0.9553951

0.68929 + 2.370831

= 0.370785 — 0.9467041
= —0.209881 + 0.3035671
= 0.597306 — 0.7738451

0.562491 + 0.9553951

0.68929 — 2.370831

= —1.022710 + 0.2475881
= —0.520411 — 1.2202301
= 1.139460 + 0.6301701

—2.92618 — 9.930651

—4.46028 + 7.336641

= —1.022710 — 0.2475881
= —0.520411 + 1.2202301
= 1.139460 — 0.6301701

—2.92618 + 9.930651

—4.46028 — 7.336641

= 0.306472 + 1.1321601

= —0.482637 — 0.6751541 | —4.24127 —5.93921 + 0.1
= —0.502855

0.306472 — 1.1321601
= —0.482637 + 0.6751541 | —4.24127 —5.93921 + 0.1
= —0.502855

= —0.736932 + 1.0715101
0.318588 — 0.0532781
= —0.985336 + 0.5064661

—5.38528 + 3.930701

—6.25941 — 4.872301

—0.736932 — 1.0715107
0.318588 + 0.0532781
—0.985336 — 0.506466.1

—5.38528 — 3.930701

—6.25941 4 4.872301

—0.538570 + 0.2720731
= 0.71818 — 1.439081
= 0.597306 + 0.7738451

0.562491 — 0.9553951

0.68929 + 2.370831

= —0.538570 — 0.2720731
= 0.71818 + 1.439081
= 0.597306 — 0.7738451

> Q@ €|l & €| & €| & €| & | @ 8| & €|l & €|l & €| & &
I

0.562491 + 0.9553951

0.68929 — 2.370831




Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

0.36817 + 1.450061
0.797752 + 1.0771301
1.139460 — 0.6301701

—2.92618 + 9.930651

—4.46028 — 7.336641

0.36817 — 1.450061
0.797752 — 1.0771301
1.139460 + 0.6301701

—2.92618 — 9.930651

—4.46028 + 7.336641

—0.24721 4 1.497661
—0.921588 + 0.6323631
—0.985336 — 0.506466.1

—5.38528 — 3.930701

—6.25941 + 4.872301

—0.24721 — 1.497661
—0.921588 — 0.6323631
—0.985336 + 0.5064661

—5.38528 + 3.930701

—6.25941 — 4.872301

10



I I = (—u*a—v?a—u®> —au+bt+a—u—1, —2uSa+u®+---—6a+
3, u® + 3u* + u® + 2u? +2u —1)

(i) Arc colorings

- )
o ()
5

aq =

a
ar = \uta+ uvla 4+ u? +au—a+u+1)

a
uPa + 2ula + u? a—u3—u—1)

a9 = (
wa+2ula+via—uwP+a—u—1
ap = wa+ 2ula+ua—ud —u—1
1
WHut 2P+ 22 +u—1

u® —ut —|—u — 2 —2u—|—1>

u3—|—u>
u +1
—ut — 2u?

wa —ud +au+a2u1)

ag =
a5 =

1

a1z =
—u® —2u
a1 = \ut+ud+u2+2u—1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u’ + 4u® + 8u® + 12u? + 4u + 2

11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 u' + 7u't + -+ 438u + 169
C2,Cg, C7 u12—3u11—|—--~+42u—13
C11,C12
€3,C4, G5 (u® + 3u* — u® + 2u* — 2u — 1)?
€8, C9, C10

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1 y'? — 3yt ... — 59686y 4 28561
€2, 6, C1 y'? — Tyt . — 438y + 169
C11,C12
€3,C4,C5 6 5 4 3 2 2
(y° 4+ 6y° + 13y* +9y° — 6y° — 8y + 1)
€8, C9, C10

13



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
u = —0.841864
a= 0.445035+ 1.1777801 3.23778 2.68180
b= —0.719261 — 0.7429741
u = —0.841864
a= 0.445035 — 1.1777801 3.23778 2.68180

b= —0.719261 + 0.7429741

u = —0.126468 4 1.3524007
a = —0.034921 4 1.1480401
b= —1.026470 — 0.8702451

—11.65360 — 3.393741

—10.36018 + 3.517621

u = —0.126468 4 1.3524007
= 0.383840 + 0.0275421
1.59190 — 0.185981

—11.65360 — 3.393741

—10.36018 + 3.517621

—0.126468 — 1.3524007
—0.034921 — 1.1480401
—1.026470 4 0.8702451

—11.65360 + 3.393741

—10.36018 — 3.517621

—0.126468 — 1.3524007
= 0.383840 — 0.0275421
= 1.59190 + 0.185981

—11.65360 + 3.393741

—10.36018 — 3.517621

= 0.376468 + 1.3196801
= —0.443330 — 1.1869101

—5.05799 4+ 8.773461

—5.56216 — 5.900941

0.376468 + 1.3196801
0.392175 + 0.6138571
—0.260915 — 1.1568601

—5.05799 4+ 8.773461

—5.56216 — 5.900941

0.376468 — 1.3196801
—0.443330 4 1.1869101
—1.27617 — 0.739371

—5.05799 — 8.773461

—5.56216 + 5.900941

0.376468 — 1.3196801
= 0.392175 — 0.6138571

b
U
a
b
U
a
b
U
a
b= —1.276174 0.739371
U
a
b
U
a
b
U
a
b= —0.260915 4 1.1568601

—5.05799 — 8.773461

—5.56216 + 5.900941

14



Solutions to I V—1(vol + v/—1CS) Cusp shape
u= 0.341865
a= 0.468459 —2.71328 5.16290
b= 1.13466
u= 0.341865
a= 4.04594 —2.71328 5.16290
b= —0.752839

15



IV.
Iy = (2u?a+10u’+- - -+7a+1, —2u®+3ub+-.-+a?—4, u'%—u+..-—3u’+1)

(i) Arc colorings

o= 0)

0
ag = U
1
aq = U
a
a7 = \ —0.117647au® — 0.588235u” + - - - — 0.411765a — 0.0588235
—0.588235au” + 0.0588235u° + - - - — 0.0588235a + 2.70588
az = 0.176471au® — 0.117647u° + - -- 4+ 0.117647a — 1.41176
—0.411765au” — 0.0588235u® + - - - 4+ 0.0588235a + 1.29412
ap = 0.176471au® — 0.117647u° + - - - +0.117647a — 1.41176
—u? —4u” — 5u® + 3u
ag = w4+ 3u” +3ud —u
2u? — u® + 8u” — 5ub 4+ 12u° — 9ut + 6ud —6u? —u—1
20 4+ u8 — 8u” + 4ub — 12u° + 6u* — 5u® + 4u? +3u+ 2
<u %)
u +1
—ut — 2u?
( 0.588235au? + 0.0588235u? + - - - — 0.0588235a + 0.705882)
a1z = —1

ub + 3ut +2u? -1
an = —ub —2u* —u?
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u° — 12u” — 12u® + 4u? + 8u — 2

16



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 (u'® 4+ 5u 4 +4u +1)2
€2, Ce, C7 (ulo 40 — 208 — 4uT 4+ 408 4+ 3ut —u — 2 + 1)2
C11,C12
€3,€4,C5 (u® 4 u® + 4u® + 4u” 4 6u® 4 6u° + 3u + 3u® +1)2
€8, C9, C10

17



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 (' — o — 6y" +22y° + 6y° + 45y* + 15y + 22y + dy + 1)?
C2, C6, C7 (' — 5y + - —dy+1)2
C11,C12
€3,C4,C5 (ylo + 7y9 + 20y8 + 26y7 + 6y6 _ 22y5 _ 19y4 + 3y3 + 6y2 + 1)2
€8, C9, C10

18



Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

u = 0.839548 4 0.0704811
a = —0.900079 + 0.9576091
b= 1.018500 — 0.6448911

—0.70717 + 4.400831

—1.25569 — 3.498591

u = 0.839548 4 0.0704811
a= 0.01855 — 1.459941
b= 0.400287 + 0.8640561

—0.70717 + 4.400831

—1.25569 — 3.498591

u = 0.839548 — 0.0704811
a = —0.900079 — 0.9576091
b= 1.018500 + 0.6448911

—0.70717 — 4.400831

—1.25569 + 3.498591

u = 0.839548 — 0.0704811
a= 0.01855+ 1.459941
b= 0.400287 — 0.8640561

—0.70717 — 4.400831

—1.25569 + 3.498591

u = 0.090539 4 1.2153501
a = —1.57349 + 0.248961
b= —1.236040 — 0.1567231

—6.25064 + 1.530581

—5.48489 — 4.430651

u = 0.090539 + 1.2153501
a= 0.23726 + 1.845861
b= 10.926127 — 0.3931881

—6.25064 + 1.530581

—5.48489 — 4.430651

u = 0.090539 — 1.2153501
a = —1.57349 — 0.248961
b= —1.236040 + 0.1567231

—6.25064 — 1.530581

—5.48489 + 4.430651

u = 0.090539 — 1.2153501
a= 0.23726 — 1.845861
b= 0.926127 + 0.3931881

—6.25064 — 1.530581

—5.48489 + 4.430651

u = 0.383413 4 1.2004201

a = —0.734177 — 0.8296691 | —4.17865 —4.51886 + 0.1
b = —0.608868 4 0.3349041
u = 0.383413 + 1.2004201
a = —0.073892 — 0.3707541 | —4.17865 —4.51886 + 0.1

b = —0.608868 — 0.3349041

19



Solutions to I V—=1(vol + /=1CS) Cusp shape
u= 0.383413 — 1.2004201
a = —0.734177 4 0.829669] | —4.17865 —4.51886 + 0.1
b= —0.608868 — 0.334904/
u= 0.383413 — 1.2004201
a = —0.073892 + 0.3707541 | —4.17865 —4.51886 4 0.1

b = —0.608868 + 0.3349041

u = —0.383851 4 1.2706301
a= 0.614423 — 1.1303201
b= 1.018500 + 0.6448911

—0.70717 — 4.400831

—1.25569 + 3.498591

u = —0.383851 4 1.2706301
a = —0.272551 4+ 0.2915291
b= 0.400287 — 0.8640561

—0.70717 — 4.400831

—1.25569 + 3.498591

u = —0.383851 — 1.2706301
a= 0.614423 4+ 1.1303201
b= 1.018500 — 0.6448911

—0.70717 + 4.400831

—1.25569 — 3.498591

u = —0.383851 — 1.2706301
a = —0.272551 — 0.2915291
b= 0.400287 + 0.8640561

—0.70717 + 4.400831

—1.25569 — 3.498591

u = —0.429649 4+ 0.3929701
a= 158670 — 1.319091
b= —1.236040 + 0.1567231

—6.25064 — 1.530581

—5.48489 + 4.430651

u = —0.429649 4 0.3929701
a = —2.40274 — 2.384051
b= 0.926127 + 0.3931881

—6.25064 — 1.530581

—5.48489 + 4.430651

u = —0.429649 — 0.3929701
a= 1.58670+ 1.319091
b= —1.236040 — 0.1567231

—6.25064 + 1.530581

—5.48489 — 4.430651

u = —0.429649 — 0.3929701
a = —2.40274 4 2.384051
b= 0.926127 — 0.3931881

—6.25064 + 1.530581

—5.48489 — 4.430651

20



V. I =(b—1, 6a —u—3, u?+3)

(i) Arc colorings

w= (o)

ag =

1
a4 = 3

1

st 3
a7 = 1

—%u + %)
ag = —1

a1 =

(
(
(
(
(
e (0)
(
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes = —12

21



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2
C1,C2,C7 (U,—l)
€3,C4,C5 w43
€8, C9, C10
1 2
€65 C11, C12 (u+1)

22



(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
C1,C2,Cq (y _ 1)2
C7,C11,C12
C3,C4,C5 (y+3)2
€8, Cg, C10

23



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—1CS) Cusp shape
U= 1.732051
a = 0.500000 + 0.2886751 | —16.4493 —12.0000
b 1.00000
U= —1.732051
a = 0.500000 — 0.2886751 | —16.4493 —12.0000
b= 1.00000

24



VL IY=(b—u, 2a+u+1, u?+1)

(i) Arc colorings

w= (o)

0
ag = u
1
ag = \1
1 1
()
a? == u
1
()
ag = 1
1
Ut
a1 = 1
-1
ag = 2u
U
a0 = \uy+ 2
—u
ag = 0
0
as = \1
1
Ut 3
a2 = 1

(ii) Obstruction class =1

(iii) Cusp Shapes = —4

25



(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1

(u+1)2

C2,C3,C4
Cs5,Cg, C7
Cg,C9, C10

C11,C12
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1

(y—1)°

C2,C3,C4
Cs5,Cg, C7
Cg,C9, C10

C11,C12

(y+1)°
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(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape

1.0000001
= —0.500000 — 0.5000001 | —1.64493 —4.00000
1.0000001

— 1.0000001
= —0.500000 + 0.5000001 | —1.64493 —4.00000
— 1.0000001

> R |l & &
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VIL. I} = {a, b—1, v+1)

(i) Arc colorings

w= (o)

o= (4)
o= (o)
o= (1)
e ()
e ()
w= (o)
- (o)
w-(4)
o= (o)
o= (1)

(ii) Obstruction class =1

(iii) Cusp Shapes = —12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C7 u—1
C3,C4, C
3, C4, Cs5 u
€8, C9, C10
€6, C11, C12 u+1
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(v) Riley Polynomials at the component

Riley Polynomials at each crossing

Crossings
C1,C2,Cq Y — 1
C7,C11,C12
C3,C4,C5 y
g, C9, C10
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
v = —1.00000
a= 0 —3.28987 —12.0000
b= 1.00000
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Crossings

VIII. u-Polynomials

u-Polynomials at each crossing

C1

(u—1)3(u+ 1) (u” + 3u® + 7u® + 8u* + 9u® + 6u” + 5u + 1)?
(4w 4 2u® — 30" 4 12uC + 240° + 460t 4 37uP + Tu® — 3u +4)
(O 45U+ du+ 1)) (w4 Tutt -+ 438u 4 169)

C2,C7

(w—1)3(u? + 1) (u” +ub —u® — 2u* +u? 4+ 2u? +u — 1)?
(u® = 30 4+ 4u® — " — 48+ 6u® — 3ud +u? +u+2)
(! u? - 2u® — 4"+ 4u® + 3ut — P - 20 1)
S(u'? = 3ut 4 420 — 13)

C3,C4,Cs5

Cg,C9,C10

u(u® +1)(u? + 3)(u® + 3u* — u® + 2u® — 2u — 1)?

(10 8 7 6 5 4 3 2

(u” +6u® +3u" + 11u” 4+ 13w’ + u” + 12u° + Tu” + 2)
(' u® + 4u® 4" 4 6uS + 6u” 4 3ut + 3ud +1)2
S(utt = 3ut 4 —22u 4 5)

C6,C11,C12

(w+1)3(u? + 1) (u” +ub —u® — 2u +u? + 202 + u — 1)?
(u' = 3u® + 4u® — " — 4ub 4 6u® — 3ud U +ud2)
(0 4w — 2u® — 4 4 4ud 4 3ut —ud - 20 +1)?
C(u'? = 3urt 4 4420 — 13)
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IX. Riley Polynomials

Crossings Riley Polynomials at each crossing
o (y — 1)°(y" + 5y5 + 19¢° + 36y* + 49y + 38y + 13y — 1)2
(' —y? — 6y + 225 + 6y + 45yt + 1597 4 2297 + 4y + 1)?
Syt 3y 4 44Ty 4 16) (y'? — 3yt + - - — 59686y + 28561)
e (y—1)°(y+1)*(y" = 3y° + Ty° — 8y* + 9y — 6y + 5y — 1)°
2,C6,C7
Sy =5y -4y + 1)
C11,C12 -
(' =y +20° 4+ 3y + 1205 — 24° + 46y" — 37y° + Ty + 3y + 4)
Sy =Tyt + - — 438y + 169)
C3, €4, Cs y(y +1)%(y +3)*(y° + 6y° + 13y" + 9y> — 6y — 8y + 1)
c8, Co, C10 ('O 4 7y? + 200 + 2697 + 695 — 22° — 19y* + 3y° + 63 + 1)2

(041207 -+ 28y + ) (11 - — 4y 4 25)
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